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STRAIGHT LINES

1. The equation of the line containing the point
(4, — 5) and parallel to the line joining the points

(3,7) and (-2,4) is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_h4tWEOCLHvzH

Abdbr +3y+27=0

B.3z — 5y + 27 = 0

C3x—5y—37T=0

D.3x — 5y +37=0

Answer: D

° Watch Video Solution

2. If the perpendicular from the origin to a line
meets at the point ( — 2, 9) then the equation of

the lineis


https://dl.doubtnut.com/l/_h4tWEOCLHvzH
https://dl.doubtnut.com/l/_5N7njswIQK6L

A2z — 9y + 85

B.2z + 9y =85 =0

C.9z — 2y +85 =10

D.9z + 2y + 8 =0

Answer: A

° Watch Video Solution

3. If the points A(7,3) and C(0,-4) are two opposite
vertices of a rhombus ABCD, then the equation of

the diagonal BD is


https://dl.doubtnut.com/l/_5N7njswIQK6L
https://dl.doubtnut.com/l/_EzyRHYXj1noK

Az —y—3=0

Bx+y+3=0

Cz—y+3=0

Dz+y—4=0

Answer: D

° Watch Video Solution

4. The equation of a straight line passes through
the point ( — 3,7) and makes intercepts on the

axes equal in magnitude but opposite in sign is


https://dl.doubtnut.com/l/_EzyRHYXj1noK
https://dl.doubtnut.com/l/_gvTKfiW2rCTm

A@z—-—y—10=0

B.(b)z —y+10=10

Cxz+y+10=0

D.d)x+y—10=0

Answer: B

° Watch Video Solution

5. If the lines p(p2 + 1)x —y+q=0 and
2

(p2+1):c+(p2+1)y+2q20 are

perpendicular to the same line, then the value of p

is


https://dl.doubtnut.com/l/_gvTKfiW2rCTm
https://dl.doubtnut.com/l/_pksaOgF3bLbG

A (a)1

B.(b) —1

C.(c) 2

D.(d) —2

Answer: B

° Watch Video Solution

6. If the image of the point (2,1) in a line is (4,3)
then the equation of line is
z+y+5=0

i)z —y+5=0


https://dl.doubtnut.com/l/_pksaOgF3bLbG
https://dl.doubtnut.com/l/_92Tv0mxEL05h

(ze+y—5=0

(ivVe —y—5=20

Az+y+5=0

Bz —y+95=0

Cz+y—95=0

Dz —y—5=20

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_92Tv0mxEL05h

7. The coordinats of the orthocentre of the
triangle whose sides lie along the lines

x=0,y=0andz+y—1=20is


https://dl.doubtnut.com/l/_ybLhgRMrHZoi

Answer: A

° Watch Video Solution

8. The coordinates of circumcentre of the triangle

whose vertices are (0,0), (4,0) and (0,-6) is

A. (0,0)

B. (4,0)

Answer: D


https://dl.doubtnut.com/l/_ybLhgRMrHZoi
https://dl.doubtnut.com/l/_GyVcSnI8q99M

0 Watch Video Solution

9. The length of the perpendicular from the point
(acosa, asina) upon the straight line
7.(- .
y=ztana+ ¢, 0 < a < E’C> Ois
A.c
B. ccos o
C.csin’ «

D.c sec2 o

Answer: B

.Y


https://dl.doubtnut.com/l/_GyVcSnI8q99M
https://dl.doubtnut.com/l/_QQ9Zf9K9AOpx
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10. The line % — % — 1 cuts the x-axis at P. The

equation of the line through P and perpendicular
to the given line is

A(@Qx+y=ab

B.b)x +y=a+b

C.(c)ax + by = a’

D.(d) bx + ay = b?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QQ9Zf9K9AOpx
https://dl.doubtnut.com/l/_a4OuDI96ExfY

Multiple Choice Questions

1. The point on the y-axis which is equidistant from

the points (3,2) and ( — 5, — 2) is

A (a) (—2,0)
B.(b) (0, — 2)
C.(0) (0, — 1)

D.(d) ( — 1, 0)

Answer: B



https://dl.doubtnut.com/l/_a4OuDI96ExfY
https://dl.doubtnut.com/l/_5iiChGmZZHPE

| & Vvvatch Viaeo >oiution |

2. A circle of diameter 20 units passes through the
point ( — 3, — 1). If the centre of a circle of
(2a — 1, 3 + 1), then natural namber « is

A3

B.4

C.2

D.1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5iiChGmZZHPE
https://dl.doubtnut.com/l/_ufot4djmxFg3

3. If point C( —4,1) divides the line segment
joining the point A(2, — 2) and B in the ratio 3:5
, then the coordinates of B are

A.(a) ( — 14, 6)

B. (b) (6, — 14)

C.(c) (— 14, — 6)

D.(d) (— 6, — 14)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ufot4djmxFg3
https://dl.doubtnut.com/l/_cbwwLZdlqW0v

4. If the points A( —2, — 1), B(1,0), C(a, 3)
and D(1, b) form a parallelogram ABCD, Then the

values of aand b are

Aa= —4,b= —2

B.a= —4,b=2

Ca=4b=2

D.a=2,b= —4
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5i8pfHeFawNN
https://dl.doubtnut.com/l/_1qeBG5IisG6i

5. If the middle points of the sides of a triangle are
(1,1), (2, —3) and (3,2) then the centroid of
the triangle is (i) ( — 2, 0) (ii) (0, 2) (iii) (3, 2) (iv)

(2,0)

A (—2,0)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1qeBG5IisG6i
https://dl.doubtnut.com/l/_QWcMYnHWq3Oe

6. The vertices of triangle are A(-5,3),B(p-1) and
C(6,9). If the centroid of the AABC is (1, — 1),

then the values of p and q are

p= —2,g=05
(i) p=2,g= —5
(i)p=3,g=25
(ivip= —5,q=2
Ap= —2,g=25
B.p=2,g= —5
Cp=3,g=25

D.p= —5,q=2


https://dl.doubtnut.com/l/_QWcMYnHWq3Oe

Answer: B

° Watch Video Solution

7. The tangent of the angle between the lines
joining the points (—1,2),(3, —5) and

( o 2) 3)7 (57 0) is
37

49

.. 49

(ii) 37

Gii) 23

1l E

(iv) 73

(i)

37
A —
49


https://dl.doubtnut.com/l/_QWcMYnHWq3Oe
https://dl.doubtnut.com/l/_BS9PF7S0a4fY

49
37
c 23
47

47
23

Answer: A

° Watch Video Solution

8. If a line joining the points ( — 2, 6) and (4,8) is
perpendicular to the line joining the points (8,12)

and (x,24), then the value of x is


https://dl.doubtnut.com/l/_BS9PF7S0a4fY
https://dl.doubtnut.com/l/_T2O3Ygyh4XEE

(iii) -4

(iv) 2

A3

B.4

D.?2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_T2O3Ygyh4XEE

9. If the points (-2,6) and (4,8) is perpendicular to
the line joining the points (8,12) and (x,24) then
the value of x is
A. (a) -
.(a -
B.(b) 4
C.(c) 3

D.(d) —4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zzsr6wrzDIjM
https://dl.doubtnut.com/l/_IKgSc5diZhBZ

10. If the line through (3,y) and (2,7) is parallel to
the line through ( — 1, 4) and (0,6), then the value
of yis (i) —9 (ii) — 8 (iii) 8 (iv) 9

A —9

B.—8

C.8

D.9

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IKgSc5diZhBZ

11. The equation of line passing through (2, — 3)
and making an angle of 120° with positive
direction of x- axis is (i) v/3z —y +3 — 2,/3 =0
(ii) V3T +y—3—2,/3=0 (iii)
V3r +y+3—-2,/3=0 (iv)
V3T +y+3+2,/3=0

A3z —y+3—2/3=0

B./3z+y—3-2,/3=0

Cy3z+y+3—-2,/3=0

D.v/3z+y+3+2,/3=0

Answer: C


https://dl.doubtnut.com/l/_OvnoFmWKuruB

0 Watch Video Solution

12. The inclination of the line £ — y + 3 = 0 with

the positive direction of x-axis is (i) 45° (ii) 135°

(iii) —45° (iv) —135°

A.45°

B.135°

C. —45°

D. —135°

Answer: A

.-


https://dl.doubtnut.com/l/_OvnoFmWKuruB
https://dl.doubtnut.com/l/_t47pjY3iSb2G
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ST
13. The equation of a line whose inclination is —

and which cuts off an intercept of 4 units on
negative direction of y-axis is (i)
T + /3y + 43 = 0 (i) z — /3y + 4,/3 = 0 (iii)
T+ +/3y—4/3=0(v)z — 3y —4,/3=0
Az+.3y+4,/3=0
B.z — /3y +4y/3 =0
Czx++3y—4/3=0

D.z — /3y — 4,3 =0


https://dl.doubtnut.com/l/_t47pjY3iSb2G
https://dl.doubtnut.com/l/_xxTPKefcmQaY

Answer: A

° Watch Video Solution

14. The equation of the line through ( — 1, 5)
making an intercept of -2 on y-axis is (i)
xr+Ty+2=0 (i) x+y+2=0 (i)
x—Ty+2=0(v)7x —y+2=0

Az +Ty+2=0

B.7x +y+2=20

Cx—-—Ty+2=0

D72 —y+2=0


https://dl.doubtnut.com/l/_xxTPKefcmQaY
https://dl.doubtnut.com/l/_QnBYxybB2Ahw

Answer: B

° Watch Video Solution

15. The equation of the line which cuts of intercept
4 on x-ais and makes an angle of 60° with the
positive direction of the x-axis is

i)y = /3(z + 4)

(iDy= —+/3(z —4)

(i) y = /3(z — 4)

(iviy = —+/3(z +4)


https://dl.doubtnut.com/l/_QnBYxybB2Ahw
https://dl.doubtnut.com/l/_gcEvTNVOq7rc

Answer: C

° Watch Video Solution

16. If the straight line y = ma 4 c passes through
the points (2,4) and ( — 3, 6), then the value of m

and c are


https://dl.doubtnut.com/l/_gcEvTNVOq7rc
https://dl.doubtnut.com/l/_5yit9g6j79xg

(iii)m——2 c——24
B 5’ 5!
: 2 24
(iv ym=—,c= — —
5 5
2 24
Am= ——,c= —
5 5
2 24
Bm=—,c= —
5 5
24
Cm= — —,c= — —
5
2 24
Dm=—,c= — —
5 5
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5yit9g6j79xg

17. A line passes through P(1,2) such that the

portion of the line intercepted between the axes is

bisected at P. The equation of the line is

Az+2y—5=0

Bz—-—y+1=0

Cz+y—3=0

D.2r +y—4=20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pwjR37Yn26yt
https://dl.doubtnut.com/l/_ugqJQPvQuo5w

18. The equation of a straight line on which the
perpendicular from the origin of the length 2
units and this perpendicular makes an angle of
240° with the x-axis is (i) = + /3y +4 = 0 (i)
w—\/§y—|—4:O (iii) x—¢§y—4=o (iv)
T++3y—4=0

Az+.3y+4=0

B.z —3y+4=0

Cx—+3y—4=0

D.z + /3y —4=0

Answer: A

| e |


https://dl.doubtnut.com/l/_ugqJQPvQuo5w

| &J Watch Video Solution

19. The two lines ax+by+c=0 and
a'rz+by+c =0 are perpendicular if (i)
ab’ = a’b (ii) ab+a’b’ =0 (iii) ab” +a’b=0
(iviaa’ +bb" = 0

A.ab’ =a’b

B.ab+a’'b’ =0

C.ab"+a’'b=0

D.aa’ +bb" =0

Answer: D


https://dl.doubtnut.com/l/_ugqJQPvQuo5w
https://dl.doubtnut.com/l/_B0L3A1sZT25y

° Watch Video Solution

20. The angle between lines y = (2 — /3)z + 5
andy = (2+ /3)z + Tis

A.30°

B.45°

C.60°

D.90°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_B0L3A1sZT25y
https://dl.doubtnut.com/l/_YGHQMOzVKzh8

21. The ratio in which the line segment joining (-1,1)

and (5,7) is divided by the linexz +y =4is

A.1:2internally

B. 1: 2 externally

C.2:1internally

D. 2:1 externally

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YGHQMOzVKzh8
https://dl.doubtnut.com/l/_4SfGn0vXHqwB

22. If the image of the point ( — 3, k) in the line
2z + y — 2 = 0O is the point (1,5) then the value of

kis (1) 2 (i1) 3 (iii) — 3 (iv) 1

A2

B.3

D.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yCdzGfIUEL0u
https://dl.doubtnut.com/l/_hLyGmd3QtfzV

23. The coordinates of the orthocentre of the

triangle whose sides lie along the lines

x=0,y=0and 3z —5y+ 7 =20 is (i) (O,Z)

..>(_§, )(m) (0,0) .V>(—— —) 5
)

(!
(35
(4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hLyGmd3QtfzV

24. The coordinates of the circumcentre of the
triangle whose vertices are at (0, 0), (6,0) and
(0, 8) is

A.(a) (6, 0)

B. (b) (0, 8)

C.(c) (3,4)

D. (d) (0, 0)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Sn7HynQU0DDz
https://dl.doubtnut.com/l/_EWn2XQNSXaqA

T

25. If the lines 3

—|—%=5and3w—|—ky:9are

perpendicular to each then the value of k is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EWn2XQNSXaqA

26. If the lines 2z +y—3=0,52+ky—3=0
and 3x —y— 2 =0 are concurrent, then the

value of k is

D.?2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bP8N9sNOVLnq
https://dl.doubtnut.com/l/_eoEFs9mJLhlE

27. The equation of the line passing through (1,2)

and perpendiculartox +y+ 7 =20is

Ay—z+1=0

By—x—1=0

Cy—xz+2=0

Dy—x —2=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eoEFs9mJLhlE

28. If p is the length of perpendicular from the

origin on the line il + % = 1and a?, p%, b? are in

a

AP, then
(Aa*+b*=0
(B)a* — b* =0
(Qa’+b =0
(D)a® — b =0

Aat+0b*=0

B.a* — bt =0

C.a>+b =0


https://dl.doubtnut.com/l/_A0hQrHB9E7dy

D.a’2 — b =0

Answer: A

° Watch Video Solution

29. The distance of the point P(1, — 3) from the

line2y — 3x = 4is


https://dl.doubtnut.com/l/_A0hQrHB9E7dy
https://dl.doubtnut.com/l/_sVvw6KrmV6go

Answer: C

° Watch Video Solution

30. The coordinates of the foot of the
perpendicular from the point (2,3) on the line
x+y— 11 = 0 are (i) (-6,5) (ii) (5,6) (iii) (-5,6) (iv)

(6,5)


https://dl.doubtnut.com/l/_sVvw6KrmV6go
https://dl.doubtnut.com/l/_Ge3ZIHSweixH

A. (-6,5)

B. (5,6)

C. (-5,6)

D. (6,5)

Answer: B

° Watch Video Solution

31. If a vertex of a square is at the point (1, — 1)
and one of its sides lie along the line

3r — 4y — 17 = 0, then the area of the square is


https://dl.doubtnut.com/l/_Ge3ZIHSweixH
https://dl.doubtnut.com/l/_TI5gbyPJUHVI

A. 4 sq. units

B. 3 sqg. units

1
C. 3 sq. units

D. 2 sq. units

Answer: A

° Watch Video Solution

32.The equations of the lines which pass through
the point (3,-2) and are inclined at 60° to the line
Vir+y=1 are (i)

y+2=0,3z—-y—2-3/3=0 (ii)


https://dl.doubtnut.com/l/_TI5gbyPJUHVI
https://dl.doubtnut.com/l/_gbjWjL7vRwmh

r—-2=0,3z -y+2+3,/3=0 (iii)
r—3=0,3z—y—2—3/3=0 (iv) none of
these

Ay+2=0,3c—-y—2—-3,/3=0

B.x —2=0,,3z—-y+2+3,/3=0

Czx—3=0,y3c—-y—2-3,/3=0

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gbjWjL7vRwmh

33. If the line — + Y _ 1 passes through the

b
points (2, —3) and (4, — 5) then (a,b) is (i)

(1,1) (i) (= 1,1) Gii) (1, — 1) (v (=1, — 1)

A (1,1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zZhiHjPkrXzW
https://dl.doubtnut.com/l/_pFOEQiGecB91

34. The equations of lines passing through the

point (1,0) and at distance of 5 units from the
origin are (i)
V3T +y—+/3=0,3c —y,/3=0 (ii)
V3T +y++/3=0,3z —y+3=0 (iii)
T+/3y—+v/3=0,z—3y—/3=0 (iv)

none of these
A3z +y—+/3=0,3z —y/3=0
B./3z +y++/3=0,y3z —y+/3=0

Cz++3y—+/3=0,z—,3y—+3=0

D. none of these


https://dl.doubtnut.com/l/_pFOEQiGecB91

Answer: A

° Watch Video Solution

35. The distance between the lines y = mx + ¢;

and y = mx + ¢y is

C1 — C

vm? +

\Cl —Cz\

VmZE1

C — (4

A.

—

B.

—

C.

]

m?2 +

D.O

Answer: B



https://dl.doubtnut.com/l/_pFOEQiGecB91
https://dl.doubtnut.com/l/_Z67Ggd36XPCo

° Watch Video Solution

36. Equations of diagonals of the square formed
bythelinesz =0,y =0,z =1andy = 1are
Ay=z,z+y=2
1
B.2y =2,y +x = 3
Cy=z,y+z=1

D.y=2z,y+ 2z =1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Z67Ggd36XPCo
https://dl.doubtnut.com/l/_oCW56i8LFNk1

37. The point (4,1) undergoes the following two
successive transformations

(i) Reflection about the liney = x

(i) Translation through a distance of 2 units along
the positive x-axis.

The coordinates of the new point are

A. (4,3)
B. (3,4)

C. (1,4)

o (1 T
\372


https://dl.doubtnut.com/l/_oCW56i8LFNk1
https://dl.doubtnut.com/l/_l5KMtItE4mqS

Answer: B

° Watch Video Solution

38. The equation ax + by + ¢ = 0 represents a

straight line

A. for all real numbers a,b and ¢

B.onlywhena # 0

C.onlywhere b # 0

D. only when atleast one a and b is non - zero.

Answer: D


https://dl.doubtnut.com/l/_l5KMtItE4mqS
https://dl.doubtnut.com/l/_2ltAp2QTjAMX

0 Watch Video Solution

39. The ratio in which the line 3z +4y+ 2 =0

divides the distance between the lines

3r +4y+5=0and3z+4y—5=0

A l:2

B.3:7

C.2:3

D.2:5

Answer: B

.Y


https://dl.doubtnut.com/l/_2ltAp2QTjAMX
https://dl.doubtnut.com/l/_aqV46l5loVof
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40. The tngent of angle between the lines whose
intercepts on the axes are a, -b and b -a

respectively is

a? — b?

A.
ab

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aqV46l5loVof
https://dl.doubtnut.com/l/_839xH7DGLeJh

41. The number of straight lines which are equally

inclined to both the axes is

A 4

B.3

C.2

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_839xH7DGLeJh
https://dl.doubtnut.com/l/_7nxa6AWfI03K
https://dl.doubtnut.com/l/_JivCGek1vQJK

42. The circumcentre of the triangle formed by

linesx =0, y=0andxz+y—1=0is

A. (0,0)

Bll
\2’2

C.(1)
S(1 ]
(v3)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JivCGek1vQJK

43. The inclination of the line passing through the
point (-3,6) and the mid-point of the line joining

the points (4, — 5)and ( — 2,9) is

| 3

< S
b
N | =

O
4;|§° w|3 o3 |


https://dl.doubtnut.com/l/_UhURAV10nBGi

Answer: D

° Watch Video Solution

44. The equations of the line with slope — 3 and
which is concurrent with lines 4 + 3y — 7 =0
and8x + 5y —1=20is

)3z +2y—63 =0

(i3z +2y—2=0

(i2y — 3z —2=20

(iv) none of these

A3z +2y—63=0


https://dl.doubtnut.com/l/_UhURAV10nBGi
https://dl.doubtnut.com/l/_otx1Bp3stCFJ

B.3z +2y—2=10

C2y—3z—-2=20

D. none of these

Answer: B

° Watch Video Solution

45. If a4+ b+ c =0 then the family of lines

3dazx + by + 2¢ = 0 passes through the fixed point

, 2

(') (_ 27 g)

(ii) <2 E)
"3


https://dl.doubtnut.com/l/_otx1Bp3stCFJ
https://dl.doubtnut.com/l/_wMoUx6nqn4GQ

o f 2 5

(iii) (E’ )

(iv) none of these
A 2 2
(-23)
B. (2 5
. ,§
C 2 2
(52)

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wMoUx6nqn4GQ

46. Write the value of 6 € (0, %) for which area

of  the triangle  formed by points

0(0,0), A(acosf, bsinf)and B(a cosf, — bsinb)

IS maximum.

w3 [ ol

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ESpMg9mhOdSP




